
Dividing Money (G)

Calculate each quotient.

1. 89 ) £4823.80 2. 95 ) £7676.00 3. 85 ) £5661.00

4. 18 ) £252.00 5. 18 ) £788.40 6. 19 ) £1622.60

7. 55 ) £3388.00 8. 57 ) £5232.60 9. 11 ) £347.60

10. If 20 identical video games cost £1008.00, how much did each video game

cost?
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Dividing Money (G) Answers

Calculate each quotient.

1. 89 ) £4823.80
£54.20

−£4450.00

£373.80
−£356.00

£17.80
−£17.80

£0.00

2. 95 ) £7676.00
£80.80

−£7600.00

£76.00
−£76.00

£0.00

3. 85 ) £5661.00
£66.60

−£5100.00

£561.00
−£510.00

£51.00
−£51.00

£0.00

4. 18 ) £252.00
£14.00

−£180.00

£72.00
−£72.00

£0.00

5. 18 ) £788.40
£43.80

−£720.00

£68.40
−£54.00

£14.40
−£14.40

£0.00

6. 19 ) £1622.60
£85.40

−£1520.00

£102.60
−£95.00

£7.60
−£7.60

£0.00

7. 55 ) £3388.00
£61.60

−£3300.00

£88.00
−£55.00

£33.00
−£33.00

£0.00

8. 57 ) £5232.60
£91.80

−£5130.00

£102.60
−£57.00

£45.60
−£45.60

£0.00

9. 11 ) £347.60
£31.60

−£330.00

£17.60
−£11.00

£6.60
−£6.60

£0.00

10. If 20 identical video games cost £1008.00, how much did each video game

cost? £50.40
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